4 - 2 1
CLOPAY MODEL 3200, 3220 REVISIONS
HOLMES MODEL 240 REV. NOJ ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
00 - | 2/7/17 = — | INTAL ReLEAsE
01 = 02/2022 re JDW REVISED FOR TDL.

(4) #14x5/8" SHEET
METAL SCREWS

(2) 1/4"x3/4” SELF
TAPPING SCREWS

14 GA. END HINGE 14 GA. INTERMEDIATE HINGE
VIEW "A” VIEW "B"
‘Q‘\\‘\\\\\‘“‘ SNAP LATCH ENGAGES
M, ONTO VERTICAL TRACK.
'3 4 ONE SNAP LATCH ON
Slioe Bl Tock EACH SIDE OF DOOR.
END ENGAGES INTO
R VERTICAL TRACK.
: ONE LOCK ON
W, WESTER} tL 5?)%';'; SIDE OF  ouTsiDE END
) : KEYED STILE
HANDLE. '

INSIDE HANDLE

[N SNAP_LATCH 1OCK OPTION,

MARK WESTERFIELD, P.E.
FLORIDA P.E. §48485, NC P.E. §23832,.....-~"
TEXAS P.E. #91513

THIS PRODUCT COMPLIES
WITH THE 2018 IBC/IRC.

END
STILE.

OUTSIDE

HANDLE. LOCK BAR

ENGAGES IN
TRACK ON
EACH SIDE
OF DOOCR.

OUTSIDE_KEYED LOCK WITH
LOCK BAR LOCKING,

(1) 20 GA. X 2° GALV. STEEL BACKER PLATE AT
EACH INTERMEDIATE HINGE LOCATION. BACKER
PLATE ATTACHED WITH DOUBLE SIDED ACRYLIC

U—BAR SEE SECTION

ADHESIVE TO BACK OF DOOR. = [ ADJUSTABLE
. A—A FOR DETAILS r VIEW 'B ADUSTABLE,
< J BRACKETS
\ T-STRUT. SEE
SECTION A—A
FOR DETAILS.
§ — .
& TWO
A POINT
EW LOCKING
]
B
==
MAX DOOR WIDTH 22'—2" |
3" ROLLER CARRIER
PART # 0120394,
MOUNT WITH QTY 3
SELF DRILLING SCREWS
AS SHOWN
NUMBER OF ', |NUMBER OF
DOOR WIDTH  [INTERMEDIATE DOOR HEIGHT *A° |'qreT1oNs
HINGES rE— >
16'-3° THRU 20'-2" 4 g8'-3* THRU 10°-0° 5
20'-3° THRU 22'-2* 5 10'-3* THRU 12'-0° 6
12'-3* THRU 14’-0° 7
14°-3* THRU 16'-0° 8
16'-3* THRU 18°-0° 9

DESIGN LOADS: +30.0, —30.0 PSF
TEST LOADS: +45.0, —45.0 PSF

MAX. SECTION HEIGHT: 24"

IMANUFACTURING PRODUCT CODE!

PC: C-DSIE-1F447

PART NO.: N/A

Unless Stated Otherwise - l}l 5585 Db’h"@ﬁh‘é""ﬁ& CLOPAY WINDLOAD RATING
ason,
TOLERANCES ore | uum WIOPAY  13°% 3155964500 \WaS
0 = +.031 CORPORATIO Fox No. 513-770-4853
688 = i-gég DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 22°'-2"
0000 = +.001 |DRAWN BY: RUH DATE: 2/7/17 |SCALE: NTS DWG.

Degrees = +1/2° [CHECKED BY: - DATE: - SHEET 1 OF 4 [SIZE
Unl Stated Otherwi:
DFMeEstSlor‘?seARE ﬁ"ﬁce:nss. DWG. NO.: 105054 VER: TDI

F N




4

CLOPAY MODEL 3200, 3220

HOLMES MODEL 240, 240G

HORIZONTAL (TOP) JAMB

(NO LOAD FROM DOOR)
LR

r

AN

FASTENER
/_ TYPE

/— 2x6 VERTICAL JAMB \

MAX. 0.C.

..I ¥ i
MARK wcsffmsw. P.E.
FLORIDA P.E. #48495<NC.P.E. §23832,
TEXAS P.E. #91513

JAMB TO SUPPORTING STRUCTURE ATTACHMENT

NOTES:
. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO

THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.

. EACH VERTICAL JAMB SEES A MAXIMUM DESIGN LOAD OF +330 LB & —330 LB. PER LINEAR

FOOT OF JAMB.

. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A

FLUSH MOUNTING SURFACE.

. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE

LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.

NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER,

IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1-1/2" AND INSTALLED DIRECTLY
THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT
REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS.

REVISIONS
REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
01 - - = = SEE REVISION HISTORY ON SHEET 1
SILICONE FILLED CHANNEL SEPARATES FRONT
AND BACK SKIN OF DOOR
1.95” THICK, 1# DENSITY — | 2" THICK

EXPANDED POLYSTYRENE
FOAM INSULATION LAMINATED
TO BOTH EXTERIOR AND

2

27 GA. MIN.

NTERIOR SKINS.

TONGUE AND GROOVE
JOINTS

4 GA. MIN. EXTERIOR
STEEL WITH GALV.
&POLYESTER FINISH

INTERIOR

STEEL SKIN WITH GALV.

& POLYESTER FINISH

3" U—BAR. ATTACHED ONE AT THE TOP OF
EACH SECTION EACH U—BAR ATTACHED WITH
(2) 1/4"x3/4" SELF TAPPING SCREWS AT
EACH HINGE LOCATION & 4 SCREWS ON EACH
END STILE. (SEE VIEW "C")

=

12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH
BRACKET ATTACHED W/(4) #14x5/8" SHEET METAL
SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS
PER BRACKET. (2 BRACKETS PER SIDE)

ONE 4" X 80 KS| X .062" T—STRUT PER SECTION.

EACH T—STRUT ATTACHED AT EACH HINGE LOCATION
WITH (2) 1/4"x3/4" SELF TAPPING SCREWS [(4) AT
EACH DOUBLE END STILE]. (SEE VIEW "D")

14 GA. GALV. STEEL ROLLER HINGE. (SEE
VIEW A)

2 =4
.......... ek |" [
_____ 1-7/8" ||:‘ 4—1/4
. VIEW "D”
VIEW € 4" TALL TAPER STRUT
3" TALL GUIBARTEEL 0.062" MIN. GALV.
..... gg ﬁéi ALV. STEEL, STEEL, 80 KSI. MIN.

12 GA. GALV. STEEL BOTTOM BRACKET.

HMENT T T H ATTACHED WITH (4) #14x5/8" SHEET
MAXIMUM METAL SCREWS.
ON-CENTER
DlSTAEJEcNE STEEL oS
BETW WASHE
BUILDING TYPE FASTENER TYPE FASTENERS*|REQUIRED?
[HOLLOW BLOCK WALL /4" x 1-1/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 5" " 0.D. ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
GROUT FILLED BLOCK WALL |1/4” x 1—3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 8-1/4" " 0.D.
2000 PSI_MIN. CONCRETE |1 ,;4" x 1" MIN. EMBED ULTRACON CONCREIE ANCHOR 7= 7" ¥ 0.D.
2000 PSI MIN. CONCRETE 1/4” x 1" MIN. EMBED TAPCON CONCRETE ANCHOR 6-3/4" 1" 0D _
12000 PS| MIN. CONCRETE | 3/8" x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 15" INCLUDED SECTION A—A (SlDE Vi EW) TR AR T
14000 PS| MIN. CONCRETE |3/8" x 1-3/4" MIN, EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED MPC: C-DSTE—1F 447
114GA STEEL (0.060° MIN) [1/4"—14 x 1" ITW BUILDEX TEKS SELF—DRILLING-FASTENER i (1553%2 } g:g: DESIGN LOADS: +30.0, —30.0 PSF
“MIN o = = 19" T 0.0. TEST LOADS: +45.0, —45.0 PSF PART NO.: N/A
1/8" STEEL 1/47=14 x 1" |ITW BUILDEX TEKS SELF—DRILLING FASTENER 14-1/2" |1~ O.D. Unless Stated Otherwise |l l:l 8585 Duke Boulevard CLOPAY WINDLOAD RATING
* FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED TOLERANCES o |y WnlOP@AY Yosop. O 45000 88 W 5
AT LEAST AS HIGH AS THE DOOR OPENING. : No E13_770-
CLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0 = +.031 |CORPORATION  Fax No. 513-770-4853 A
MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2—1/2", EXCLUDING STUCCO THICKNESS. 533 = :8(’)2 DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 22°-2
0000 = +.001 |DRAWN BY: RUH DATE: 2/7/17 |SCALE: NTS DWC.
Degrees = £1/2° [CHECKED BY: - DATE: — SHEET 2 OF 4 |SIZE
Unless Stated Otherwi
DIMENSIONS ARE IN INCHES.| DWG. NO.: 105054 VER: TDI

A




4

_’.

CLOPAY MODEL 3200, 3220

HOLMES MODEL 240, 240G

REVISIONS

REV. NO.[| ZONE: | DATE: | ECN NO.| APPVD:

DESCRIPTION

01 ] = - - SEE REVISION HISTORY ON SHEET 1

SCREWS.

3" TRACK CONFIGURATION.

NOTE DOUBLE TRACK LOW
HEADROOM, HI-LIFT TRACK,
FOLLOW—THE— ROOF
TRACK, AND VERTICAL LIFT
TRACK ARE AVAILABLE

FOR DOORS WITH 3" TRACK.

ION

CENTER HANG REQUIRED FOR

1/ DOORS OVER 8" HIGH.

1)

LHR BRACKET (2—1/2" x 5-3/4" x 12CA)
ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING

DOUBLE_ TRACK

DOUBLE HORIZONTAL
TRACK.

.‘_

1" DOOR OVERLAP (EACH SIDE)

OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
16 GA x 6" x 1-7/B” GALV. STEEL DOUBLE END STILE FASTENED

OPTIONS. . 2x6 SYP JAMB (IF PRESENT; WITH TOG-L-LOC SYSTEM AT TOP, BOTTOM AND CENTER,
TRACK CONFIGURATION 3° GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 2). ety 18 GA. x 2" x 1-=7/8" x 3/4" GALV. STEEL INTERMEDIATE
ABOVE THE DOOR OPENING THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK £ HINGE FASTENED TO DOOR SKIN WITH TOG-L-LOC SYSTEM
DOES NOT AFFECT THE | MIN. ANGLE DIMENSIONS 3—1/4" x 2-7/8". SUPPORT BY DOOR \ | AT TOP. BOTTOM AND EACH MAIOR RIB.
WIND LOAD RATING. N VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING  \STALLER (TO SUM). /4" x 2-7/8" MIN. x 0.080" TAPERED ]
= JUNCTION, TWO 1/4" BOLTS [—— FROM LAST MOUNTING e
5 & NUTS FOR EACH TRACK SLOT TO TRACK JUNCTION ghGLEn SEE FAGNRORT_MOTUIIING & JRace | 14 GA. GALV. STEEL CENTER HINGE
& - : CONFIGURATION  BELOW. 7/16" 1.D. ROUND FASTENED TO SECTION W/(4) EACH
- PUSH NUT #14x5/8" SHEET METAL SCREWS.
5y S e g
o] 1 . " "
e 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
I TO TAPERED ANGLE. TRACK ATTACHED TO .
. il STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
T2 ON"GENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE
5 T NUT AT EACH MOUNTING SLOT. :
“““ i 3" DIA. B—1/2" LONG STEM BALL BEARING STEEL ROLLER.
o SECTION C€-C
4
< ) NE. %" TRACK BOLT AND NUT AT EACH AMBS BY OTHERS.,
E-' 34 MOUNT?NG SLOT LOCATION. PREPARATION OF MANUFACTURING PRODUCT CODE:
o} MPC: C-DSIE-1F 447
DOOR | VERTICAL —————
22" e T.T;CK LENGTH ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME : = N/
20" | 84" DISTANCES AS THE TRACK BOLTS (l.E. 3—-1/2", 10", 22°, 34", Unless Stated Otherwise (D 8585 Duke Boulevard CLOPAY WINDLOAD RATING
a—0" | 96" 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & TOLERANCES ore |\ uR ona Mason, %ﬂ',ﬁ%ﬁg,‘%ﬁﬂ \/\/ 5
10" 10-07 108" 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE 0 < +03 |CORPORATION'  Fox No. 313-770-4853
1 ol 2, HERIICSL ZORIFONTAR TRACHS HUNETION. ;0 = £.015  |DESCRIPTION: MODEL 240/3200/3220 WNDLOAD 22'—2"

o Sona 0 L 0000 = +.001 |DRAWN BY: RUH DATE: 2/7/17 | SCALE: NTS DWG.
MARK wzsrsnne'lh.w.i . i 18™-0" 228" Degrees = +1/2° |CHECKED BY: — DATE: — SHEET 3 OF 4 |SIZE
FLORIDA P.E. #4B495, NE“AX Y23832, Unless Stated Otherwise
A THh DIMENSIONS. ARE IN INCHES.| DWG. NO.: 105054 VER: TDI



4 3 <& 2 1

CLOPAY MODEL 3200, 3220 REVISIONS
HOLMES MODEL 240, 240G REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
01 - - - - SEE REVISION HISTORY ON SHEET 1
THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE STANDARD ASSEMBLY CONSTRUCTION:
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OPTIONAL FULL VISION SECTIONS WITH SINGLE PANE OR INSULATED GLAZING AVAILABLE.

OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE

IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS REGIONS (REF. CHAPTER 16
REGIONS (REF. CHAPTER 16 FBC/IBC) FBC/IBC).

NON—IMPACT—RESISTANT
FULL VISION SECTION OPTION

% //%//

o

OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS
AVAILABLE, SINGLE PANE OR INSULATED. ALL PANES ANNEALED
GLASS OR STRONGER. SINGLE PANES §" OR THICKER.
INSULATED WINDOWS 3 THICK, CONSISTING OF (2) PANES J”
THICK. OPTIONAL ACRYLIC IS PLASTIKOLITE OPTIX, AN
APPROVED CC2 PLASTIC IN COMPLIANCE WITH IBC/FBC 2606.
MAXIMUM DLO: 33" X 21-3/4".

STANDARD ASSEMBLY DETAILS

MANUFACTURING PRODUCT CODE:
MPC: C-DSIE-1F 447
PART NO.: N/A
Unless Stated Otherwise - 8585 Duke Boulevard CLOPAY WINDLOAD RATING
M , OH 45040 USA
TOLERANCES ore | Blnpay Tel. No. 513-770-4800 W 5
0 = £.031 CORPORATION Fox No. 513-770-4853
; 688 = i-g;g DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 22'-2"
g i o 0000 = +.001 |DRAWN BY: RJH DATE: 2/7/17 |SCALE: NTS DWG.
waek westerrieLds pe O VAL b Degrees = +1/2° |CHECKED BY: — DATE: — SHEET 4 OF 4 [SIZE
PR, EE, 104 MO RE. 23002 DIVENSIONS ARE N ‘INGHES. [ DWG. NO.: 105054 VER: TDI




